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1A. | In the circuit shown Fig.Q1A, the switch is moved from position a to position b at t=0. Find 4
i(t) fort > 0.
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In the circuit shown in Fig.Q1B, the switch is opened at t=0. Find i,(t)for t > 0 using
Laplace Transform.
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Determine the voltage V in the network shown in Fig.Q1C which makes the current in the
10 ohms resistor zero.
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. oV Ve N
Determine the Network Functions (i) V—z (u)l—z(ul) V—Z and (w)I—2 for the network
1 1 1 1
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shown in Fig.Q2A.
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The waveform shown in Fig.Q2B(i) is applied on to the circuit shown in Fig.Q2B(ii).
op. | Calculate and sketch the output waveform. Consider time constant = 0.1msec.
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2C For the circuit shown in Fig.Q2C, determine the current through the 8Q resistor using
Superposition theorem.
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